
Saniay Gh0danrat University, l(0lnaIul
Established as State Private University underGor. ofMaharashtra. Act No x_.

FYM Tech School ofTechnology
EL8508.2 fn Ond{,/ Power System Operation and Cortrol

Lj n]5-.2019 End Semester Examination (ESE)

Instructions for Students: 1) Use ofnon-programmable calculator is allowed
2) A11 questions are compuisory

Solve anv Two
Explain the overview ofPower System Operation and
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Control with Block diasranr-
Di!cuss abour coiJ resiivai ;;d hoii;;rve

Explain the fiurction of automatic load frequency
Control

Define System blackout Problem
Discuss how the Dynamic Programming applied 10 find
tt.S plylig"l 

-oll'y9:_"_1il."j-4..-r,Sl,.:9+i$,.p....ob1""-n,.. .....

Peak Demand of a Genemting Siation is 25 MW. The
Load Factor, Plant Capacity Factor and Plant Use Factor
are 0.6 ,0.5 and 0.72 respectiveiy. Detennine (a) Load
Factor (b) Daily Energy Produced (c) Reserve Capacity
ofPlant

t1p,$iq.$e r,erm load lrequcncy conrro..
OR

Explain Lagrange method for solution ofecollomic
schedule.

tt . n"t i"ii i,i S , fr-ioi r"o SOo'l, rV piars is g;ren U1

Fl = 400 + 6.0 PGl + 0.004 PG12
F2 : 500 + b2 PG2 + a2 PG22
'lvhere PG1, PG2 arc in MW
(a) The incremental cost ofpower, i" is $8 / MWh when
total demand is 550MW.
Detgrmine optimal genemtion schedule neglecting
losses.
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@) The inuemental cost
tolal demand is 1300 ]v

neglecting losses.
(c) From (a) and (b) fndt

A generator is zupplying
in load ol4 MW requin
6 MW. The incremental
,A4Wh. What is the ir
end?

c)

mat arc the diff'ercnt opemting states of a power
s) seTf .... . ... . .

What is E\4S? Uttat are is major f,mctions in power

.:yi.l9,a.,o,psl+.ti_o,n.,e$colr--9!:
OR
Briefly discuss the rarious fimctions of eneBy contrc
center

Q5
a)

b)

b)

Q6 a) Whal are the functi
b) ain about Do

al cost of power is $10,4r,IW1 when
300 MW. Determine optimal schedule

)) fndthe coefficients b2 andc2.

plying a load. An incrcmental change

requires generation to be increased by
mental cost at the plant bus is Rs 30
the incremental cost at the receiving
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opemting states of a power 04 2 1

are ils rnajor fmctions in power
control?

12 4 4

larious fimctions of eneqy control 12 2 6

rtions of SCADA?
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